2021SHAE 2K EARLQUZRE

& N = XAt LA g
1 |A2l2 20 A3t 22 HEA| A o225 EM2 *I’.“_' =
2 |3e2lx 20F A5} 23 HEAI O o2&

3 |A2[a ED} Azt 24 HEA| A olE=

4 |E2el 38 2HY 28 1 =], o 0|2} 2l OFO| M| 2

5 |=etdny 7 B 0|2} il OFO| M| 2

6 |STHEON 8 Mt 0|2 A OLO| M| =

7 |EgtEoiel 2ot 7|4 3 S ot ) 0|2} il OFO| M| 2

8 |2eteiiel 2ot 27| 4 Sl 0|2 A OLO| M| 2

9 |=otHOl 23 Fl= R 1 Sl CHAHO2IO|

10 |eotdol 2% Fl= felH 2 S ot ) CHAHO{ 20|

11 |22teil 2% fl= f2E 3 Sl CHLHO2I0|

12 |Why? 2t0| St= A} E O oA LEE]

13 |Why? 20| 4x| 2t} oo £ A Y EE

14 |Why? 2+0| K-POP ot 0| LEE

15 |Why? 20| 2}t O] M| X]| LEE]

16 |Why? 20| X|2|2} X| = LEE]

17 |Who? special =27l CHLHO2I0|

18 |Who? special B X|d CHAHO{ 20|

19 [2tEo|Y HE H| B4

)]
o

B 20jA &otE7| Oj 2§ Al oFO| Ml =

N
—_

HE0M MOt 1 Oj 2§ Al oFOl M=

)
]
OJ 2 Al OFO| Ml =
)
]

rol > > (e me|of| M| 2 |02 |Ho| K

A e e e N e oS S e AT

Ix| x| x| Hm{ | r | © | [ Hot| loH| x| oX | 0Q
1|4

Eo
22 |AH=0lM AOHET| 2 x
23 |0F UM A0t7| 1 = 2| O] 2 2 OO Ml =
24 |1F H=0|M Hote7| 2 o 2| O] 2 2 OFO| M| =
25 [HOIMol StA CHEE 16 Ofo| 5™
26 |HRIMO| StmA CHER 17 ol ofo| g™
27 |2UIMO| MAACHEH 8 Aol CHE0LO|
28 |HTIMO| MAACHEH 9 AolA THE0LO|
29 [O| &t X} ZHA MHEE 10 S|2A|0F g|o[2 AYHAF
30 [1305 Lt&Z QHC| J2|mA | S 3L 0f
31 |REYHIY C Z8x | 53 L0
32 |[ZEYHIY ) g8 |SFL 0
33 [AEHYR 48+ ___AESFLY

= S 1=

el el Bl el el Bl el e e AR DA SR NSRS N SN B SR I o N ORI \ON | R N \ON I \OR I \ON I \OR | \O3 I \ON I \OR I \ON I \OR |} \OH I\ §)



34 |REHYH PAREE ANSFLHY 1 "
35 |REHYI PARE R ASFL O 1 "
36 |71 MEXt 20|A 22| H &4 1 SR Sl Sl S| N
37 |=E0|E Hof| 7I+H By &g =Hi7H 1 "
38 |REle RFE BRL Of 2l AMEZICE 22| 22 0|24 1 "
39 |02 R E st FAM2 0|07 A2|AH WA O 20|24 1 "
40 |Ml&of Tt SLpE QL oot M2l OfEHOIE CHe 1 "
41 |MXE MY =0 MI{o|dtEt 2 "
42 |08 22| M sH ME =02 HIHelHrEt 1 "
43 |=8¥o| 2zt & =0 =% 2 "
44 4= AtEAEE =02 STUFL O 2 "
45 |&7tet 0 M| AFLEO]| ZE0f2Iof 2 "
46 (Mo 2E ZelHe| oHEH FLOSEYE 2 "
47 |TIR TR AOIQqEeE HET| IS B2l Z4 2ol 70| 1 "
48 | XS oA 0|5 QM 2 1 "
49 |LYO| SHZAL 21 S0y | 1 "
50 | 00| sfAAL A2 s0H | 1 "
51 | 00| sfAAL A 3 S0 | 1 "
52 |=E 1t OFK Ml A2 O|Of7] 1 J2|A Ze|AEE XA el& 1 "
53 |=E 1t OFK Ml EA2 O|OF7] 2 d2|A Ze|AEE XA el& 1 "
54 |2E 7t OFM Ml 2A & O|0f7] 3 J2|A Ze|AaEg MH o= 1 "
55 |=E 1t OFXM o] EA2 O|OF7| 4 J2|A Ze|AEE XA el& 1 "
56 |WHO? OlE|[AE M CHAFO 20| 1 "
57 |WHO? QIS AO|§A CHAFO{ 20| 1 "
58 |WHO? A& CiARO 210 1 "
59 |®E2l= =70 EXYoF 2RO AELQ HYAE 1 "
60 [O|X 2% C} =X|Of! OfLt Of2[Of OpARSE MEE 07| 1 "
61 |KIT 22 24 FAEg XO|HEFA 1 "
62 |2AYO =2|H|ot SF 2T Z12|Ht OFSCtRAIEE 1 "
63 |m2[of H|Y ALt WNES 1 WAL 3| N
64 |(MZ =4 QHEOf & sh2 2 0{ 210 1 "
65 (MM ACIEH A YA =SETA 1 "
66 (2™ & oful He=z == 1 "
67 |21 Ol F7} Cf X|O{T St e == 1 "
68 |LIE 240{StLE} YK} ZIgAE 1 "
69 |LIZE HA =RARl S5 1 "
70 |Af2 MQtO| Xt2tH e o|2§o}o| 1 "
2 5 2%




71 Lt St HbAt2 HEA 1
72 |1= QLOFE AR STFELOf 1
73 |¥7t LR Z=H =4 1
74 |LtE HZ2 0f0| 4740l 7| = 1
75 | KIS0 A Hed = 0lA 2 1
76 | HWf & 5 g E 5| ey 1
77 |S71NME XREA Zigt e 1
78 |ZT7E0| Bl O M 2ralg| MEE07) 1
79 |21 MR 2 S5 XA of 12 of EY 1
80 |IXIZ 1 O|RIZI =oAL 1
81 |IpXIZ 2 oIz St 1
82 |HHTE & ity 2 o|ojoj| WEZ|Ltel 1
83 |ERE wOu EHS HEeziA 1
84 &AM Ol=2t2 EEI =3Il g 1
85 |®7Ho| mtat 52 HMet 1
86 |&2|: et L} A0 RARLCE ZQ%H Al g0 22to| A o2& 1
87 |12iAM, =2|7t Fof? KMAE = gealxs) 1
88 =27t M&E HO|A 70| AEFQIA CHAHOZI0| 1
89 | & RE(EAHS fIot 22| Y =& 0[0F7|) M3l 2% HMFAL2| Ot A 73| K| 1
90 (& g= oAX|2|, ot2| 3t o= B XA k2 O| &34 1
91 |2 & X|2| 0|oF7| AAE EDNESS 1
92 | & HFYAE o =&l sl s 1
93 |HIOIRF AE2|7} U= MAH O 2 -AMA H 24 MM DALZ Y 1
94 |H|ORF AEZ|7} U= MAOH-FEHH T4 MM AR Y 1
95 [Aid 9EHEZ 7|2= =Y =0 o =&l Lt& 1
96 |HEZ 7HT mALE 47| z28A e 1
97 |X8 oIF 102 SAS5E 7t AE IS A at2 1
98 |etr=gEE HH LS olg 2 1
99 (O|MEol XS HEH365 o2& O|M& 1
100 | =& SF 2% 7tA| 21| O} 0|2 1
101 [H=ot =82 /2t sMus EME S =ok0| ) AR 1
102 | WAL S SHH =4 HE o0t S =ok0| ) Al 1
103 |=& 01 2M7|9 & A4 oF7HH| O o224 1
104 |59 HIFHE0| R 515 et 1
105 |5{M&S 0| Mo - =0| ofo|A3 2 515¢ 2 1
106 |WAf, 1FI4S S LStCt Of| & L| E| HENSDAIZY 1
107 |49 OtECH? +=¢ Of| 7 L| E| Sz 1
ZX




108 |l Off AtEfZO0| mASLICH Of| & L|E| AAZ 1
109 |LHEO| 22/8le =5 82 M Attin SHI| O] M 44 1
110 | XS SUCIA ZEME ¢ Of| & L| E| 424 Q| 1
111 |28 SHCE, o C|7tHX]| Of| & L|E| otts| Q| 1
112 |28 AEH ¢ 7+ A| 21| Of =X E 1
113 |28 SATY ST mEnl = Fsl Rl 2 1
114 |ESSMEE o|C|oj& 0| 2X 1
115 | 327t 7|9 Xle XS 7+ A| 21| Of Zalot 1
116 |X2& HEIQIX| 2MT|E 7tA| 2| of Zalot 1
117 | 2S35 = 2oiHo| ™ 0|0 a471& 1
118 |22|Ltat EA| of8li1-3 ZAAL M= X2 AR Q] 1
119 |SIEZEIE Lt S o =&l oldg 1
120 |28 S5 SHLE H O|E&EA a471& 1
121 |7k&0] E2 oY Z2dA ZM4 1
122 |39 o2 ui g C|Xtelstet Z28A xMY 1
123 |[MdE @& 5t& o[yl a? Bl P 1
124 [N OFgol 2= ol ciof SMUSATZ 1
125 Qs ¥ 35, WA &S EMETEER O|M3| 2 79 1
126 |& 7|91 ARASLICH SISO Ol &3] 1
127 |QIEBHE| 25 Wiker 2 gt Astory Y e 1
128 |O|EE F&ot ud o E Fad 1
129 |Lhs EAlstm mAFRIL|Ct H|H| & (vivi2) B S =t 1
130 |St W AHX|E TSICH Of| 7 L| E| o|flg @ 1
131 | RS ERKO| AAE FESHE OO 2a3F2A0| g 1
132 |2HHSHX| Y=L} otz == 1
133 |X| Q122 X7 E HME EESRA 1
134 |2 1 HELIE HEHE FEIME 1
135 |29 2 HELIE HEHE FEIME 1
136 |0l HE & AL0| FAE|= 7|50 TSN 5t H|0f| O] = 1
137 |2t 5 B3 2ALLE 1
138 |0 @A ohF{OF 2t 29 HIA 1
139 |Z=0|| HE delz| H| B4 2
140 |2EEHS 4EA O|A 7o 3 X| =FFA0{2I0| 2
141 |LH7F CF SO = A QAEHA MAF EESRA 2
142 |Ae A EHO| /e2{Lt? 0t0|F 2 ZEX 1
143 |Lto| St HTHAL N E T E T AL =HI7H 1
144 |52t RUEE 2R E3HAL 1
6% = 4%




145 |OCIA & Z4Q17} FHE SHEEA 1
146 |Z==2| A7t x= St AL 1
147 |& MEL MTZ HHERS StelH| = 1
148 |SHE 2 FHEtst oIl st 7t Y= A 1
149 |CHOHRIS XHAS TR K| = FR S CHARE A 1
150 |EXtol2 & HEA S fIHAS 1
151 |28 45 M= gt Mz Mz AZ 1
152 |FE|Ltat A AR ZoiH AMget FLO L GAL 2
153 |OtO|2d O|= & a5 ZL|OfRHK 2
154 |OFO| 2l BTS Z2 FL[O{RHK 2
NS AER[EA ZL|O{RHK 2
156 [OfO|2 CiLA = AEE[EfA F=L|O0{RHK 2
157 |Ofo|2l HE 2 d50 FL[OJRHK 2
158 |OFO|Y R FH d50 ZL|OfRHK 2
159 |OtO|2l =510l AEE|R ZFL|ORHK 2
160 |OtO|2 =3T3 E Rl FL[O{RHK 2
161 |2t UH 0[0p7| O|F& CEA 2
162 |27t S=H £ O|0f7| Je[AEH HE AES 2
163 |38 12|10 CHE MAAICH MK S o5 Z 2
164 |SE0| I Fol 7| 7| J)LEE 7Bt & 2
165 |S&0| I Fof W7 =7] 1 1. EE 7|t s 2
166 |SEO| zgof WA 27| 2 1. EE 7|t 2
167 |SE0| Izl W7 =7| 3 JLEE 7|Et L& 2
168 |3 80| Iadh F|2t7| & 27| JLEE 7|Etn g 2
169 [@ai SE2 MA 1~10ME et =0[OlEFA 2
170 |25 & Tef 3|y g2 | 1
171 |22t 0i =3 MBTI Soteoy CH 2 M OFO| 2
172 || 2O MOl HO| 2f QK Ol )= SE2e8l 2
173 |%X5 O{Xt0t0| E0|H 7| O|A|Ztet O2| 2 I 2
174 |25 Z0|H7| Q3ste} OhR 0| 25k 2
175 |JOB? L= St o A &gt 7{Of! Team. I3} = AO0}0| 1
176 |JOB? Lt= 2t&E 2| At A g 7{Of! A = AO0}0| 1
177 |JOB? Lt= &= HA0AM L Aot Fd& = 2 0}0| 1
178 |JOB? L= M| 0tX| % 2| AtOf A &gt 7{Of! Team. 23} = AO0}0| 1
179 |JOB? Lt= Mo A gt HOop uF8 &t = Y 0}0] 1
180 |JOB? L= CHARZHOAf &gt 7{OF! Team. 213} = 2 0}0| 1
181 |JOB? Lt= SHA 0| Af &gt Aok 51X = = AO0}0| 1

(@)
I
of¥
B
Bl




182 |JOB? L= EG{ MO A g Hop ZX|M = Y 0}0| 1 "
183 |JOB? L= X|2f HIO| 2 2| AtO| A g 7{Oof! Fd& = A0}0| 1 "
184 |ACHe 2 212 xf 1M 0| M 7| 1 "
185 =3¢t HOA ool SHE 1 "
186 |At& SAIA AHAZ dEI] ZEZFLO 1 "
187 |7| 1|5t 245t Al EX|1 2t M 2ol 70| 1 "
188 =& % AHX| =078 HHE A XY 1 "
189 |LH7t 2= AtO[of a3t STFELOf 1 "
190 | MY H SEH M AEI4TE 1 "
191 |0l & &t x| =2 o| XI5t AHAH 1 "
192 |[MAMo| I o|a | 1 "
193 |MM Q| EX| ols| & Z2MO{ 20 1 "
194 |OFF AtEHEL nksEs StET5 1 "
195 (0|2 | OfEA BHE0{Z ZAQ17}? S|4 A2y 1 "
196 | X AFI|QIA Shu o] EHA x&s5 =9 1 "
SHA| 247
Z = 6%




